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1. XORXZWT 2 OHIPHZ RV ISR, o ZEBBOANL, Z 13 2 OIEREFREE L, Rez 1F 2 DFEH %, Im 2 & 2 DIETB
ZRET HIZIE 2=2+3i THIUL, Rez=222Imz=3 TH 3. (S35, Afks55r. BT, C#k95y)
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2. RXROAZWTIT 2 OHIPHZ EFE VI ISR i ZBBORNL, 213 2 OREHFELE L, Rez 1T 2 DI %, ITmz (& 2 DIEES
#RT HIZIE, 2=2+3i THIUL, Rez =222 Imz=3 ThH 3. (S35, A5 55 B# 755, C#k997)
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Re7FA~ #ERFRFE R BER HORE 02 BIES

1. XORXZWT 2 OHIPHZ RV ISR, o ZEBBOANL, Z 13 2 OIEREFREE L, Rez 1F 2 DFEH %, Im 2 & 2 DIETB

ZRET HIZIE 2=2+3i THIUL, Rez=222Imz=3 TH 3. (S#3m. Afhs55. BT, C#%945)
* ERROZTIR

© 2y EEVHOEMR  az+by+c=0 & HEFHOEHR: (a—bi)z+ (a+bi)z+2c=0
a,b, c lZFER (EBDEE)

@ BEVFEHOER: az+az+c=0 & oy EEFRIOER : 2ax — 2by +c =0
alIEFEBDERL. a,b,c EFEERT, a =a+ bi.

* EEBE  f(2) — 0 2MEM c OFHBBET L,  f(z—c) =0
* EAERDETBEEBE  f() — 0 ZFUAE OIS ¢ LV, f (z) —o

cos 0 + i1sin @
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2. ROAxW7T » OHIFHZEEZM ISR,  ZEEBOHAL, 213 2 ORBEERE L, Rez 1k 2 DERZ, Imz 1T 2z DREH
ERT WAL, 2=2+3i THIZE, Rez =222 Imz=3 TH 3. (SHh3sr. Atks55. B#&75.C#H9%)

* EROIHE

O 2y EEVROER  az+by+c=0 < HEVHDER: (a—bi)z+ (a+bi)Z+2c=0
a,b, c IFFER (FRDEL)

@ HEVFHOEMR: az+az+c=0 & oy EBEFHOER: 2az —2by +c =0
aIBEEBDERL. a,b,c ZFEERT, a =a+ bi.

* EITBE)  f(2) =0 ZEHFEK c OVTEEIZETE, f(z—c)=0
* EAERDETBEGBE  f(-) = 0 2B A RLICOEES ¢ AP, f <Z> —0

cos 0 + 1sin @
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